Calcule sans poser les divisions suivantes.

46 + 2 =
68 + 2 =
64 + 2 =
86 + 2 =
62 + 2 =




Calcule sans poser les divisions suivantes.

24

48

42

86

120

106




Calcule sans poser les divisions suivantes.

482 - 2 =
840 + 2 =
426 + 2 =
248 + 2 =
200 + 2 =

828 - 2




Calcule sans poser les divisions suivantes.

64

28

608

126

144

22




Calcule sans poser les divisions suivantes.




Calcule sans poser les divisions suivantes.




Calcule sans poser les divisions suivantes.




Calcule sans poser les divisions suivantes.




Calcule sans poser les divisions suivantes.




Calcule sans poser les divisions suivantes.




Calcule sans poser les divisions suivantes.




Calcule sans poser les divisions suivantes.




